DSolve[{mvx'[t] == —(fv[vx[t]] + fi[vx[t]]), vx[0] == voCos[6]}, vx[t], t]
Solvexifun : 0000 Soelve 0O ODOOO0OOOOO0ODOODOOO0DOODOOODOODOOODOOODOOOOO

{{vx[t] = — T-zo8eTT05 =1 50655 xTovevv0zTTIEST } }
DSolve[{mvy'[t] == —(mg + fv[vy[t]] + fi[vy[t]]), vy[0] == voSin[6]}, vy(t], ]

Solve:ifun: 0000 Solve 0000000000 DOOOCOODOODOOOOOOODODOOODDOOOO
{{vy[t] — —0.00180149 + 3.21791Tan[1.33829 x 10~16(1.62025 x 105 —
2.27562 x 10'6¢)]}}
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—Graphics—
Plot[0.00180149377593361° + 3.2179145366082125 Tan[1.3382926819897285*"-16(1.620250523617628* 15
{t,0,1}]

—Graphics—




